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ВАРИАНТ 5
Переведите текст письменно на русский язык
BROMEGRASS
Bromegrass can be grown on practically any soil type, but does best on loams and sandy loams. The grass is winterhardy, moderately tolerant to saline conditions. It is fairly drought-resistant.
Seeding. Fields are often seeded in close-drilled rows, but better seed yields are obtained from 24-to 36-inch spacings. In conditions of high moisture or heavy weed infestation narrower rows may be desirable. A farmer should seed into a firm seedbed, such as clean stubble, and  not more than one inch deep. Spring seeding is preferred, but stands can be established in late autumn, just before freeze-up or, if moisture is favorable, in early September. The rate for spaced rows is two to three pounds per acre. The rate may be as low as one pound per acre, in rows 36 inches apart, if good seed is used and the best seeding practices followed. A companion crop is not recommended.
Fertilizers. Response to fertilizers may be very large with good moisture, but very little response may occur in dry seasons. Rates of 40 to 80 pounds per acre of nitrogen are suggested with the heavier rates for older stands. A farmer applies the nitrogen in September. Nitrogen applied in late October or early in the spring is much less effective.
Harvesting. The crop is ready to harvest when the moisture content of the heads is 50 to 55%, and that of the seeds about 45%. This will be in late July or August when the heads have turned brown, and the upper parts of the stems are changing from green to brown. Swathing is usual, but straight combining is recommented for light crops. The damage of seed shattering is too great to wait until heavy stands are fully ripe and ready to straight  combine.
I. Подчеркните в каждом предложении глагол – сказуемое и определите видо-временную форму и залог. Переведите предложения на русский язык. В разделе (б) обратите внимание на перевод пассивных конструкций.
     а). 1. Hay harvesting requires several steps.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
          2. Scientists are working at developing new variety of winter wheat.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
     б). 1. A companion crop is not recommented.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
           2. The yield has been greatly reduced.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
II. Подчеркните Participle I и Participle II и установите функцию каждого из них, т.е. укажите, является ли оно определением, обстоятельством или частью глагола-сказуемого. Переведите предложения на русский язык.
          1. Bluegrasses are often affected by insects.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
           2. The method employed was old.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
           3. The bents are low-growing.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
          4. One has to be attentive when working with this fertilizer.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
 III. Подчеркните в каждом предложении модальный глагол или его эквивалент. Переведите предложения на русский язык.
           1. Yield may be lost.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
           2. All material should be used.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
           3. Low-growing crops must be cut to the ground.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
 IV. Выпишите из текста эквиваленты к словам и словосочетаниям:
         устойчивый к _________________________________________________
         удобрение ____________________________________________________
         сорняк _______________________________________________________
         глубокий _____________________________________________________

